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= PAR=RSgu RSN ] 11,000,000 & * 14! 11,000
FelAIE && FBlIgX=z
500,000 & *3CH 6 9,000
O=x&AME==Z 130,000 x60= 7,800
02 22244 10,000 10,000 0
O=clAIE3Z223Y| 10,000,000 & *14] 10,000
Al =elAld HE=> 60,000 60,000 0
401 Al EHIZ 20| 60,000 60,000 0
01 A&l 60,000 60,000 0
oOMI2E B2 ESESA
20,000,000 & =14 20,000
O=elAd(2d ) |X=el
20,000,000 & 14! 20,000
=clAlE Mol SE==+ 20,000,000 & » 14 20,000
22 sHIIE HAAY 723,780 733,780 A 10,000
401 Al EHIZ 2UYI 723,780 733,780 210,000
01 A&l 720,000 730,000 210,000
OAME2I(189) =52 EXISA
30,000,000 & * 14! 30,000
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A ALWSH
M 5900|825
ool SAMAD|Y DS (ol @
- _ < =
SA - FHB Ol (3) - KNRAY - BYS Ol ko8 i HRE2
OFze|(52-1) s+=2 SXSA
40,000,000 & =14 40,000
OZ 42| (703) =42 FHISAt
30,000,000 & * 14! 30,000
0gel(192-2) =2 ¥ s+ &8XSA
50,000,000 & *14] 50,000
OANEel(436-32) s+=2 FHI3A
25,000,000 & 14 25,000
O=cl(444) ===2 ZHISAM
15,000,000 & » 14 15,000
O08del(748) =s+=2 HXSAM
25,000,000 & * 14! 25,000
OZ&2I(109) =2 ZEBA
15,000,000 & * 14! 15,000
083l (22) s+2 HHIZBA
20,000,000 & 1A 20,000
O2M2I(187) =2 ZHSA
20,000,000 & =14 20,000
O=%el(407-48) === ZHISAt
30,000,000 & *14] 30,000
OSHEe|(265) =2 Wz SHESA
30,000,000 & * 14! 30,000
oYl (279-1) == ZEIA
25,000,000 & =14 25,000
oaazel(666-1) 52 ZEHIA
20,000,000 & =14 20,000
O2fel(185) == ZEAIZA 25,000,000 14! 25,000
O&tZe|(254) =2 EEIA
25,000,000 & * 14! 25,000
oaazel(679) s ZEIA
30,000,000 & * 14! 30,000
OJIAM=22l(161) s+=2 EXISAt
20,000,000 & 1A 20,000
OZL=2(639) =2 EZIA
20,000,000 & =14 20,000
Oddel(123-9) =s=2 ZHISAt
20,000,000 & 14 20,000
OHALH2|(540) =2 ZHIA
20,000,000 & * 14! 20,000
Ouxliel(160) s== ZHHISAt
30,000,000 & 14 30,000
oOZL=2l(139-1) === HHISA
20,000,000 & *14] 20,000
05232l (302) s=2 FHISA
15,000,000 & =14 15,000
©Ql72|(246-1) s=2 HHISAH
40,000,000 & 14! 40,000
O=cl(28-2) =2 &XI3BA
50,000,000 & * 14! 50,000
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A ALWSH
M S|tz et
ol SQMADIE DS (el Ee
SA - BH . (B30) - HSEAY - BAS Ofl & o8 Gl HDE2
OXIOi2l (490) s=2 SXISAt
10,000,000 & » 14 10,000
O%Z2|(211-6) s+ AXSA
10,000,000 & * 14! 10,000
OFA2(7) 542 FHIZA
10,000,000 & *14] 10,000
03 Al 2 CHYI 3,780 3,780 0
OAAE =HIIE HAA CHYl
600,000,000 *0.63/100 3,780
JHst B Az =t d 571,000 0 571,000
s 400,000
s 171,000
401 Al EHIZ 20U 571,000 0 571,000
s 400,000
= 171,000
01 A&l 567,402 0 567,402
OJI A3 A&z SELYIAH(ZEXR)
567,402,000+ 1 & 567,402
s 397,482
= 169,920
03 AIZ =201 3,598 0 3,598
OJI1A% &=z SHEFEISAM(IEXF) 2UHH|
571,000,000%0.63/100 3,598
Eas 2,518
s 1,080
wEssE Mo 573,626 628,084 ADB4,458
2 384
s 17,500
I 82,000
& 1,312
= 472,430
nEANEE 29 381,626 452,208 A70,582
= 384
s 17,500
e 1,312
i 362,430
WESHHAIE=E FAl2t] 243,325 345,528 A 102,203
101 el24d| 27,809 24,412 3,397
M4 DI2NZ22 NS ES 27,809 24,412 3,397
OSt&EA HA R (HOIE) 27,809
Op-—= 76,000 & 262 19,912
OFs=g 76,000 & x52 3,952
O xt=ai+=E 76,0003 17 1,292
ONEEERES 25,156,000 & *0.015 378
O=03=2E3 25,156,000 & *0.045 1,133
OAHLBERES 25,156,000 & *0.0324 816
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A ALWSH
M WseEd e
thel: nSAEE 2 (ctel &3
SN B S (S) - HRMY - B Ofl & o8 Gl HDE2
OFIRLEERE= 816,000& *0.0738 61
OB REZ 25,156,000 *0.0105 265
201 B2 95,516 91,116 4,400
01 At 2teltl 19,600 20,000 2400
Qustss MIHHMEH =2
4,800,000 & *14] 4,800
O3 HAKA (BS)SAaH
8,000 & 1021 +20 1,600
OHASXUI A EAEY 5,000,000& 23| 10,000
O3|UEAl 2HUX Q4| 600,000& *23] 1,200
OREXNEZR SEHI (X)), B8 S)
2,000,000 & *14] 2,000
02 22244 75,916 71,116 4,800
Oustlss 2223 4,000,000& 123 48,000
OHAHEAIAE(BIS) St23
493,000 & x12& 5,916
OustlsssAae 9|
22,000,000 & *14] 22,000
401 Al EHIZ 2UYI 120,000 230,000 A110,000
01 A& | 120,000 230,000 A110,000
OWESHEEXIE HH| (&4, WA)
500,000 & 2004 2 10,000
ounstss FHl 10,000, 000 & *4JH 2~ 40,000
OWSASHAHI WX 10,000,000 & *1CH 10,000
OTHY Z&S € F&S &£X RA2a
2,500,000 & *44 & 10,000
OHASZE HXT X & RN (XNF)
500,000 & *207H 2~ 10,000
OHASZE RIUES 1,000,000 & *207H 2~ 20,000
OHASZE WA 20,000,000 & 14! 20,000
nSHHE 2 100,135 90,612 9,528
101 Q1 24H| 64,235 58,592 5,643
04 JIZ2tH 22 NS E+ 64,235 58,592 5,643
OMII+ HZE nsael R
88,000 & 182121 33,264
O2AHF=XE 22| AR 76,0003 +221+31L 4,712
OXYSEYREE QR 26,259
OoJl=s 68,000 x262 17,816
OF=5=+E 68,000 & x52 3,536
OgxraxcIH=E 68,0002 15 1,020
OAZIIZEE 12,750 & =120 Al 24 1,530
O=0zRE= 22,372,000 & *0.045 1,007
ONEBERES 22,372,000&+0.015 336
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A ALWSH
M DESE NA
thel: nSAEE 2 (ctel &3
- _ < =
SA - FHB Ol (3) - KNRAY - BYS Ol ko8 i HRE2
OHLABERES 22,372,000& *0.0324 725
OFIIRLBERES 725,000& *0.0738 54
Ot REZ 22,372,000 *0.0105 235
201 LEH2 Y| 8,400 7,920 480
02 22224 8,400 7,920 480
OSAZEEZ S RIS+ 350,000& x12& 4,200
OXNYUHSNSAAE KX 2l
350,000 & =122 4,200
202 44l 1,400 1,400 0
01 =i Bl 1,400 1,400 0
OSEMNUAR YRET Ofy|
70,000 & *121%203] 1,400
307 2lzZtol 8,100 2,700 5,400
02 QIRHAB A AIHE X 8,100 2,700 5,400
OLU2H2 NIt XA 8,100,000 & 14! 8,100
308 KHXIEHMIS 01 & 18,000 18,000 0
07 X SHN2HREZ 18,000 18,000 0
OUNZEENREC2EHZ AN X2
18,000,000 & * 14! 18,000
HAZBAIAE (BIS) RAL= 15,523 0 15,523
308 AtxIEHMIS0I A 15,523 0 15,523
10 20|12 SO HEHE & X2 EFALHI 15,523 0 15,523
OHATBAIAE (BIS)RAl2E]
15,522,920 & = 14} 15,523
0glol nsetd MEwsdE =4 21,874 12,500 9,374
s 17,500
< 1,312
= 3,062
403 XM XIHHMSA=01H 21,874 12,500 9,374
iy 17,500
& 1,312
= 3,062
02 SISOt =X S AL I 21,874 12,500 9,374
OO0l nsSotd MEWNEE ZHAY
21,874,000 & =14 21,874
Fas 17,500
& 1,312
= 3,062
HAOHAMHDIE At 769 0 769
2 384
= 385
405 KH&HE SHI 769 0 769
2 384
=z 385
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=M

X XH
(=]

A& su
wnsed o
nNSANEE 29

SEE (&he e
SA - FHB Ol (3) - KNRAY - BYS Ol ko8 o HDE2
= = - Ofl & =
01 ML =EZHEHI 769 0 769
O=SYgEIoticet 82 EX&EE 2L
769,000& * 1CH 769
2 384
= 385
Sguss- JI& 192,000 175,876 16,124
J| 82,000
i 110,000
e SHAI2E 192,000 175,876 16,124
Il 82,000
= 110,000
307 2I2to1 & 192,000 175,876 16,124
I 82,000
=z 110,000
05 BIZtRIEZ 192,000 175,876 16,124
OZ R SHAl 29 96,000,000 & *2JH &+ | 192,000
Il 82,000
i 110,000
tsns 4 X 1,163,315 1,361,395 198,080
= 8,200
& 2,990
i 1,152,125
SEMY X3 1,162,815 1,360,895 198,080
= 8,200
= 2,990
i 1,151,625
HAHH MHEXR 19,000 20,000 21,000
207 & IR 19,000 20,000 21,000
01 =4 19,000 20,000 21,000
OsHEHA HEXE NSHEIAMES
19,000,000 & %14 19,000
SN &2 100,000 100,000 0
307 2I2to1 & 100,000 100,000 0
09 2+=HHEXS 100,000 100,000 0
OsHEHA dIlld &84
100,000,000 & *14] 100,000
A 2+EH RIHEXS 420,000 333,000 87,000
307 2lzZtol 420,000 333,000 87,000
09 2x=HHEXS 420,000 333,000 87,000
OFdAH 2+H RIHEXS
420,000,000 & * 14 420,000
HAZSAE MEXR 545,000 745,000 A200,000
307 12t01 & 545,000 745,000 A200,000
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SN ALDED
¥ ZDE S4 N
el 2BAY X (st &
= = S
SA - ZEH-G9 (3) - NRAY - BES 0l st Gl HDS2
09 2+LHExZ 545,000 745,000 200,000
OSOEHA Hl4old MY
400,000,000 21+ 14! 400,000
OS0EHA LBAEH ca
110,000,000 24 #14! 110,000
OSOEHA NEINC N
35,000,000 14! 35,000
HAIRBAIY THE X2 78,415 102,095 123,680
= 8,000
= 2,930
2 67,485
201 YEr2 | 42,082 41,002 1,080
01 ALt 2l 41,620 40,540 1,080
OA0IS YU SUC 2FBI2 SN2
(He) 110,000 %20CH 2,200
OSAIOIE 2UR SUS SLZ D2 (1Y)
45,0002 +730H ¥ 122 39,420
02 2= 462 462 0
OEAl JIEZHII SHURS 55008 +7CH+122 462
207 STt 16,000 0 16,000
= 8,000
2 8,000
01 e RAg Y| 16,000 0 16,000
OM4Xt BAIZZ FALB 16,000,000 14! 16,000
= 8,000
2 8,000
307 ©12+0| ® 20,333 61,093 40,760
= 2,930
2 17,403
09 2+AHET2 20,333 61,093 40,760
oBEEZ RESH OlgE
13,2002 67 CH « 122 10,613
OEAl ZRIZIE 248 9,720,0002 * 14! 9,720
= 2,930
2 6,790
MO X2 HROIZBDEE ZE SEAY 400 800 A400
= 200
= 60
2 140
307 212+0| 400 800 A400
= 200
= 60
2 140
09 24N BEZ 400 800 400
OAMQIE T2 X0/ A DRI &=
400,000 *1CH 400
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A
I—IiH:
CHe|

SA - FB G () - KRAY - By 2
= 200
3 60
= 140
Falgze = P 500 500 0
NESEFLEX 500 500 0
301 LEIEAS 500 500 0
12 JEt2 4= 500 500 0
OstEltsxt S8R dNZN=
100,000 & 5 500
HH2IZH (AENSH) 396,322 360,460 35,862
ARSI (HEWNED) 327,960 304,142 23,818
lEIH (HENE) 327,960 304,142 23,818
101 14| 327,960 304,142 23,818
01 2= 113,701 91,228 22,473
ox=2f=¢ 10,299 & x23021 x480 Al 2+ 113,701
03 RIHAZ 2R E > 214,259 212,914 1,345
OE 223 o] 181,014
oJl=2s 1,298,240 & «501 1201 & 77,895
Odol= 1,298,240 & x5Q1 x4 3| 25,965
OAlZt2lS 15,590 & *5Q1 %300 A 2t 23,385
O E S 0tdl 649,120 & 5021 %23 6,492
OFHSAHI 100,000 52! 1201 = 6,000
O 140,000& 5211200 & 8,400
O&d=% 110,000& 5211200 & 6,600
ORI Ea= 60,000 & «5Q1« 1204 & 3,600
(OESSES= 100,000 x521« 1200 & 6,000
OP ==y 4,800,000 & 14l 4,800
OXH&y 8 x4 2,400,000 & 14 2,400
OXTHEERE S 120,000 1204 & 1,440
OEz2E=¥ 1= 300,000 x1&+6¢2! 1,800
OG It 2| 83,157 &x5Q1%15& 6,237
O=SMat2el SI1H S 22| 33,245
oJles(1s8) 1,171,850 @ 121123 14,063
o4z (188) 1,171,850 & «1Q1 x4 & 4,688
OgESIHI(158) 1,172,000 & * 1A 1,172
OFHZAHI(158) 100,000 & 121122 1,200
OXRag(188) 140,000 & 121« 122 1,680
Oz (158) 110,000 & 121 x12& 1,320
Ol (158) 60,000 & x1Q1«122 720
OZx&2E(158) 100,000 & 121 x12& 1,200
OP ==y 1,680,000 * 14 1,680
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A ALWSH
M HHRHZH (HENS)
o9l M2 (HADED) (el &2
SN EH .o (3] UV e B
(OPIELLEES 1,200,000 & »14] 1,200
OHItE 4] 76,818 & 15 1,153
O=ge3z3 1,353,420 & *1¢! 1,354
OnE=Ed 452,000 10! 452
OHZ=2E 975,000& %12l 975
OFIRRAEH 72,0002 12! 72
OXTHEERE S 316,000& «1¢! 316
Jl2dtl(H&nsn) 68,362 56,318 12,044
Jl2dBl(H&8nsEn) 68,362 56,318 12,044
201 2| 40,462 31,418 9,044
01 At 2teltl 40,462 31,418 9,044
O et==2H| 24,430,000 & 14! 24,430
o=l 8,832,000 & =14 8,832
oYXtz 7,200,000 *14] 7,200
202 044l 23,100 20,100 3,000
01 2L HI 23,100 20,100 3,000
OYRF& JI=0H| 23,100,000 & » 14 23,100
203 PRF=&H| 4,800 4,800 0
04 RN2EHRFAHI 4,800 4,800 0
ORAN2IYFFAHI 400,000 =122 4,800
IREs(A8us) 182,466 131,602 50,864
HWEHeHXKIS (AL E 0 182,466 131,602 50,864
UEHHXE (HEWNED 182,466 131,602 50,864
701 JIEtSI HENES 36,557 0 36,557
01 JIEtSI HEEZ 36,557 0 36,557
OFXHMLSLESH HEZ (7 TAIHEAM &
=01 365,570,000 & *10% 36,557
TR IIBEES 145,909 131,602 14,307
01 JI3&&E3 145,909 131,602 14,307
OT:t2eld= 145,909,000 & * 14! 145,909
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